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Givenv = (—1,6) , w = (6,7 1)
1. Find 2v — 3w,

2165 -3 <o, 17 = 2,275 —<9,2>= <-2o,q9

2. Find |#]. &
)(-l)z-l- G =(SF S J
3. Find |w| ; i.
J 6%+ % ~\] -t 5
4. Find v w. /-,b-
) +6 (1 =0 7
5. Find the anglegbetween vand w.

O=cos™ (jia7)=cos™ (& }' 05 (0 () ul0)

6. Find a unit Vector U in the same dlrectlon as v
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5%. =<-2,"5>

Lon « = I \
=tarl'|5|= 32

9 " +180° (345 2"

Find the radius (in cm) of a circle that contains an arc of length 8m,
subtending a 100° angle.

5=3m. -,6=l(b° 3 F=7cm
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Evaluate the following trigonometric expressions:

1. sec% 2. cos(—420°) 3. tan(—90°) 4,sin 135°
!f*jl ‘ 'T\ N2
(03’9
\ 2 J=r _ ~I
o
2 1] J_

2 Mn6e¥in¢7 ; V2
Solve for x. (all solutions, no restr|ct|ons 27\'k 'JTK

B 4= =
sin2x)— sinGd= 0 =0 El X

2sinxcosx — Sinx, =) =:n- 4+ 7K :

g:ﬂl\;@msx ) Q X 3+21\‘I< ‘éﬁ-

=0 Coex= &( X:g*ﬁr\

Evaluate the inverse functions. Give your answers in radians.

:J 2-)

sin
csc

Evaluate.

1.sin~ 1 (sing) = -—r‘_—

—

2.tan"! (tanz?n) = =T
3
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1—cosx S5
, evaluate tan—.
x 12

Lan 5y_ l=cosZ _ -(D
Sins™  ~ -

By 93
Ny

sin3x = 3sinx — 4 sinx

LHS = Sin (23 + X))+
= SIN2%XCOSX + 02X SiNX =
= (25‘0&(08)9 CoSX + (COS x—s,n)b SioX =

= 2SInXCOS* X + Sir\xcosz)(
> 3sinxcos: X =SiN®X =

- 35!0)( (l -SiN K)“S)D X =

=3Sinx =380 3(-&0 X =
=33 NX- 2SN X =RHS

Given that tang =

Prove.
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Find the exact value of cos —cos— — sin—sin—.
12 4 12 4

-
= CO05 CE 4’;
— (“”—
= €03 (33

f(x) = —=3csc (4x + z

a. “amplitude”

b. period

c. horizontal shift
d. vertical shift

2

) -2

<t
= CO0S — =

)

| 2

fx) = gcot (3x — %T) +1

e. “amplitude”

f. period

g. horizontal shift
h. vertical shift
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